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A (i) Yv-99 4 diddFv-, foa i g
Note : There are THREE sections in the paper A, B and C.

(i) QFIT-T T FET GG 1 % TH 10 47T & I G0 | FedF YT Q@ 3 HT 8 0
@ 10 477 FEGHE FFR F T F 8 |

Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QENT-& F 8 Yl 7 G 55T 6 ¥ & I o | §IF Y97 3 3F H1 8 vd
391 5 %7 / 50 Y=gl 7 3 e /

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT8 % 6 F991 7 @ 587 4 Fo71 & I T | F 997 8 b H1 8 v
797 15 &3 / 150 &gl § 3 ifore |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

v) ¥E % F G 9991 B FHER TH I 5 ST |

Solve all the questions of a section consecutively together.

(vi) @1 TSI 8 S 14 1 Rt d 37t sgae @ @

Only English version is valid in case of difference in both the languages.

W - T
SECTION - A
1. () g 1 vaen deger aa % g faemfaa femen man o1 |
(a) Tauia Tefiei 3 eefiums (NTT)
(b) AR 3 HIZIer
(c) AT 3R T ¥ FENTIamy

P (@) =EwH
(1 0f8) P.T.O.
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(i)

World’s first cellular system was developed by

(a) Nippon Telephone and Telegraph (NTT)

(b) Bellcore and Motorola

(¢c) AT and T Bell laboratories

(d) Qualcomm.

U HIGT3e il i U 98 WY ¥ gaL 90 RIA W EFNa &4 6t wfwan ard
$-

(a) TH.CEH. (b) TW

(c) BE-3% (d) 3

The process of transferring a mobile call from one base station to another is
(a) MSC (b) Roamer

(c) Hand-off (d) Forward channel

(iii) U 257t Hegert A2adh ITANT HAT B

(a) @ g, /uE.EE. (b) #W.&Hwmu /s

(c) FhIF HIgE W& (d) I9re At
The 2G Cellular network uses
(a) TDMA/FDD (by CDMA/FDD

(c) Digital Modulation Formats (d) All of the above

(iv) U Heger Heheuq1 § UEdl emar i TG A FhAT 2 |

(a) e wegn & geE

(b) &8 WAl hl HEAT TR I I ! T35 HL
() (a) 3R (b) @

(d) 39T | A IS TE

Radio capacity may be increased in cellular conceptby .

(a) decrease in radio spectrum

(b) increasing the number of base stations and reusing the channels
(c) Both (a)and (b)

(d) None of the above
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(v)

(vi)

7302
e Hata ¥ foru ush et 1 WH SR 39 A feran St 8 it

(a) U FHaAH % feIu FAfershan & &1 ITAm HLl 2 |

(b) el 1 FB € A H FEvIHA B! 2 |

(c) & geia faferor T &t signfaa e 2 |

(d) It @t

Hexagon shape is used for radio coverage for a cell because
(a) it uses the maximum area for coverage.

(b) fewer number of cells are required.

(c) it approximates circular radiation pattern.

(d) All of the above

Srgf 1 g IR HA F1 HrHE Bl &

(a) =g @HAl

(b) Hifoa wagn 6l &4

(c) qa;qgiﬁzaéaaﬁaﬁﬁzﬁagu:nﬁﬂ%afamnsntﬁsaré1
(d) It a+i

The advantage of using frequency reuse is

(a) Increased capacity

(b) Limited spectrum is required

(¢) Same spectrum may be allocated to other network.
(d) All of the above

(vii) Hfén 6 awre i B0 E B -

1. Ted Y gER

2. &

3. wd W e # ufEd

4. frranut s 3w | afEdd

@ 13m2EAEI (b) 1.23M4wER |

(c) 23M3|ARI @) @fiadd
P.T.O.
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Fading is caused due to
1. Multipath propagation
2. Obstacles
Frequency variations at the source

4, Variation in amplitude and phase at receiver

(a) 1 and 2 are correct (b) 1,2 and 4 are correct

(¢) 2 and 3 are correct (d) All are correct
(viii) fafeawar st faofa =1 wam WHE R |

(a) g (b) feefiem

(c) grie 3l frefiar (d) HT A

Diversity employs the decision making at

(a) Transmitter (b) Receiver

(c) Transmitter & Receiver (d) Communication Channel
(ix) 30.0%.gum. §me s R feman sman 2

(a) vou IfY fheex &t srravasar g2 & fou
(b) 3. um. 3. 'eH & ferw
(c) = welieh e e & ferw
() (a) 3 (b) G
The guard interval is provided in OFDM .
(a) to eliminate the need of pulse shaping filter
(b) to eliminate ISI
(¢) to give high symbol rate
(d) Both (a)and (b)
(x) = & i qwdie MIMO 1 3wam 78 i 2 7

(a) 4sft (b) aTE-TE

(c) ars-Hag d) uun.dug.
Which of the following technology does not use MIMO ?
(a) 4G (b)  Wi-Fi

(¢) Wi-Max (d) AMPS (1x10)
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1

Jag — ot
SECTION-B
wn.ug,, §.05. 31w g . S afenfya Fif )

Define MS, BS and MSC. ¢ 3)

AT GO A T AT R 7 U AR GV 7 o $9 Iare ffln |

What is wireless communication system ? Write some examples for a wireless

communication system. (3)

STgfH G: IUENT FFIE 1 BT 8 7 HHIET |

What is frequency reuse ratio ? Explain. 3)

@ﬁ?@tﬁaﬁmmﬁmmﬁ%mm—wmﬁwWﬁWW% ?

What are the techniques used to expand the capacity of a cellular system ? 3)

U WS W@ & 41y U6 ., AT, 3 i €1.um.u. | 3= Fa1se |

Differentiate FDMA, TDMA and CDMA with a neat diagram. (3)

fafeean & 39 =41 999 2 7 Herer fafaear ik gare fafaud 3 = sasy |

What do you understand by diversity ? Differentiate selection diversity and combining
diversity. (3)

37 w2 un. qaTe i wa 1 == S |
Briefly discuss the OFDM technique. (3)

P.T.O.
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9.

10.

i O

12.

MIMO (fimh) a5 & fou ush = 3@ & w19 99 disd quesy |

With a neat diagram, explain the system model for MIMO (Multiple Input Multiple

Output) system. (3)

e —
SECTION - C
Faw T § FEfd 2G/3G/A4G 3R 5G % gedia Hifsrg 3R 3R G430 |

Evaluate and differentiate 2G/3G/4G and 5G regarding wireless communication. (8)

afe us fasie wh. €40, (FDD) #egent Sefi% @3 &l $e1 33 MHz a2 =i, wEfed #
I B A o giae arag a9 FEEw el F o gia sEn F fau, @ 25 KHz %
fryeias Sel @1 3991 HA1 2 dl U del o fo10 3ueres el 1 @ 61 muE FHifa
Ffe & 39 e 2 -
(a) 4-8 H1 GH:IFT

Ifg rafea daga ®1 1| MHz, FrE S9ei & fou gafia 2 9 sutea @ (a) & yos o
% feru weiss et 1 fagam Set 3 afaa Sat o =t faa & fafor Fif )
If a total of 33 MHz of bandwidth is allocated to a particular FDD cellular telephone

system which uses two 25 KHz simplex channels to provide full duplex voice and

control channels, compute the number of channels available per cell if a system uses :
(a) 4 —cell reuse

If 1 MHz of the allocated spectrum is dedicated to control channels, determine an

equitable distribution of control channels and voice channels in each cell for the above

system (a). (8)

ey HEn o1 arffator FIfU | T S & gedrary wfen = fawan & aagnsu |

Give classification of multipath fading. Explain each type of multipath fading in detail. ~ (8)



EL/EF5002 (7 of 8) 7302

13, T Sl fafSir Bt afewr aHEEe 3N 3Eh GGl Al JEAE! S e R
A Fafégiano & =g Fifse |

Elaborate dynamic channel assignment and compare its advantages and disadvantages

with the fixed channel assignment. (8)

14, Wa-TE AR Aige B TY-7H & @Y dB # foer & wsse |

Explain Free-space propagation model with path loss in dB in detail. (8)

15. o= o wfera feoaoft fafau :

Write short note on the following :
(a) FAH 99 Gl

Wireless channel capacity
(b) A3 (LTE)

LTE (4x2)
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